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03 Option (C) is the correct answer. There is no word as ‘Fein’.
07 Option (A) is the correct answer. It is Faction = Fact+fiction.

Explanations and answers to select questions

15 Option (C) is the correct answer. The four words are : Myth, Thy, Try and My.

23 Option (C) is the correct answer. When the subject is made up of nouns joined by ‘or’, the verb agrees with
the last noun. So, here it needs to agree with ‘brothers’, and hence option (C).

26 Option (D) is the correct answer. The subject ‘none’ here refers to a plural, ‘boys’. And so its reference point
being a plural, ‘none’ takes a plural verb.

27 Option (A) is the correct answer. The phrase ‘as well as’ is not a conjunction and neither does it work as
one. That leaves the subject ‘Lily’ a singular, and hence option (A).

28 Option (D) is the correct answer. The blank needs a pronoun that can represent the action of sending a gift
by Manu to Raj and vice versa, reciprocating the action. So, we use a reciprocal pronoun. When such action
takes place among more than 2 persons, we use the reciprocal pronoun ‘one another’ and when between
2 (as here), we use ‘each other’.

29 Option (A) is the correct answer. The given sentence is a second conditional with its pattern : ‘If + past simple
(got), would + infinitive (save)’.
30 Option (C) is the correct answer. Theology is the study of religion; phenology is of climate.

33 Option (D) is the correct answer. When the reporting verb is in the present tense (says here), there is no
change in the tense of the reported speech, though prepositions and pronouns change as per the rules.

34 Option (C) is the correct answer. Only the tense of the universal truth remains unchanged.

48 Option (B) is the correct answer. lrony is a literary device that relies on the difference between expectation
and outcome. An oxymoron is a figure of speech where two words of opposite meaning are used together.

Please note that this key is within the purview of
Oxford Advanced Learner’s Dictionary, published in 2014.
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